ASS(GRMEeNT =
SOLJTIoM S
B 2) (12+6)=3= 182326
fésgf%ﬁﬁleHB%QS;Zf:g\
IDESI 55 6= 1576=3
ﬁ) 70— S

oo

[ —

/5%§ R0 5
qu 2+ ( szﬂr) (cﬂ%%} ﬁ

A
B D as. L g) 360. 5 o) s . 23
56 2 26 9 B I3

L™\

‘:bnx) .‘wﬁ ’" ‘f gms’@
e . s \‘ :
0 22 OF= 2.4 ) Fip = T 0E%D

>) “") 553, 4856 253. 49 ) 3Rt x q0.00

5 2) 26 . 2ed 3 < oug
¢ Helop K O] | ¥eo
‘{OOX( 36§"> / (00



= o |
T onesw i
065y T2 . 240
365 I ) -
5 (O 165 ) o 2 = ﬂzcio‘,
NP

Y

4

30\\%: 5 o |
0. 0ol

20)
, I 2 /"{j e \ \ - s

(9 ¢
) 2250/6—22;) C{'

o 31y % = 52
o

24,) 7
. L0 - —
] > g“’é’) - ‘&z f;m ‘ ::;d””m'

Le> 7 ..
Fomade) ,-_[
O

.4 62,55
A 2) |
) TTOTAE ‘
7 CET '
LA O =
Cor (4 or Houns)
| Pee Hou E’B

i . '8.12 Lol 2,
(f,,("’"«:i Q—{j (\2 Qﬁ)



™,
ﬁ> CReQ 1T  Fed T < [ ﬂé’T/HL me) - ( Descoun T )
= @8%~(3\(Q%3@_}

o

&

S5l - (50\37’5> {Q@é)
= O L0 C)’%
.;éﬁ

7A(M ound P{m Q(ﬁ. I QW“TQ [T o . ‘ e
- W&S ) CC OO Wan@. ¢ Faally

-

= (2¢mefg,f‘1;ég;
= 814906, 25 |

CQ) [T e 4\ CQUANTITY COST ek un( T TOTAL

o P LA
AR £ L A ARG AT S

| Q6 o ¥35 384 00

NO
{a)
L
B3
-
i
3%— 3
¥
i”\
g

L~
~&
L
&
A,
o oim
Y
o
A

).

B
L

I

@ Z> A QS A V(:fz}ﬁ\{;‘[ ewe"* ﬁ o (‘:.: ) _— :ﬁ::g" é‘:,. ) Wg‘ @‘i' {f"z}

41 Tres el Poe cding B oe e Mat €0

bt € 4 Ko B

= 5@ {»@L( b O + §"’4-(
. L_(

) . R Pt g g, oo o L gL e
- Ca ( L T e Tl B L %@f{'ﬂ{%w &

b) TR cosT = f’%)a«f—@ﬂm(@a D605+ (7—0360 515°) +(541 X 5%/5
ﬂ( 2 16 ( |

i

’TOT;Z\L #oF , w el e
T EL T 5(01-6#4“10%5/ = a ’(



0ST =  ToTAL Co°T

ToTAL # o Lirles

Fs
IS8
N
o
=

e s T S e

= #0054 e citee
o
SY CeNTS PR LITRE

2.\ 2) G- 2o~ =

{?-> e {0 o7 = 01 C{ g(}é_ {%“\3 _ ("—-l -2 &\B N (w s L .

}.:

LV

O ZB 7’(6&)* ‘)(;Q\
m ) —Gm ( Z’\W = 24 n*

O\} :T /1}0{ ,ﬂ‘ ) = [Of-x_m':l«@
15 (;,:» M= 2o NESINE

- & 2 A O = m Mg"
260 (a1 (e 2,4\ = 0520 tu-o 172a

= 02 -Bel + Bo—|

22 26~ (26D - %5 b0 2)W~ )

e, , - i v“"‘“iw oy o ] » . e
o Y - ’[ wt (¥ 72 N ;‘Z\ 1YY ‘*é'* (f':;) {f‘%

~ o 7 .. ) 2, = . “l
- ;2 i'fw e}}...iim T g:w c:v» ia& a ~_,u 4’ . " 2 O Ly == By g,fm

i



=% (At L (54e-a)
= 249 - ,’(“ ‘
25 - ()
:2—3\ _‘,_L
2
= 2%
- /L(
OB 21\‘) kkkk &m Fo@ N‘—SL)VC:.@Q>P__’"'{800)nzz,sw
’(sY\‘*"lB V ‘ : ) :
= 7(54\)[@5\) z

kA

{50 [25+(> s

Z> FVC( ‘V.&D T FV=100, {:oxl‘??) L= 256

| 365
- zes((-o15(25,)) = 1052 H
MB EY  Foe py=i952  (=ols A , €= ?j;g
|+t | -V e

- ("’/“’5Z - a{pam.mg

3&8
H’ O - 159@ (3Ts

A | |z | ' \d - (25
D2 =l A YTl ) (B)s



. G e’
O [ } ()
(o) GO SDRICVEE (1) "
{@> 2y K /m% [ _;5_}‘ = *é\
.("’"’f«a) \ "ZU 4 L
( R H
32 ks )““‘"" - N A
) (5 =) T e
%‘ ' N ' < |
2.5 @& 2) 15::;3}55;?;%215 = [4.%5 45 Cllodeza

RNCENESS

"

ol

5.

e

213F — loas? 53~ j“

0.00000 —> g, 0.0000= "5
-itd
<A
A
4 —= 6'4 = “\W
| S|
S éjf L @



9 2) n2oo o 5 %0

4) \«\Z%O@U"'Diﬁ)l = ln2s0 4+ ia Li1o¥
x [n%oo 4 15lnlro & 1\
Vet 2o ~720 N
o . | ol
G) \nl 85 (Gm )1 2 ln 850 + tn el )
= WE5c +lale™® - |noof
- \5\ SO = 12 (n .0l —1a o o\
06
25 (B 2) - Fx=35 Q) L=t
’ X;%"_—é/_ /}{::{/:”([5%}{13
| =7 A o
Sl X= -5 X=-"5b
10)  ~2x =7 3%
x=F
7 _ -3
@ 2) s-dx=-4-% &) lbx-17 = ex3
A= 3X (O = ~ 249
O{,_q% ”)(':-—2.(3“
EN ‘o
| = -2
5=7F
D) ~% 125 e Sx-56 v
2= B
Q‘-Lr\ N
Y



7. ¢

reslag R

) 2) —3C(-1\x) ¢ (Ex~15)=1&%F
“3 #3233 4 Ex- 15 =187
]l x = 2049

K Tes
=27

x =5
%) _ 2 (k=) &+ 2 (3-2%) =~ %
2%y + B 2= T
~26x = -52 |

XK= 54
—a’»ﬁ_{‘:P
x= gL
5)2) %+5x =26 ) 2-2%= dy
2 A3
B x =20 2-3%0 = ¢
5 E 3
13 -3 - \.,,:,,3
x= 6 2 Ce
-7 :%.
3
D2) 4 (4-3x)+ 53 = 3x- T (2x-3)
it Ao te B

. | ) , ) . (_( N .
o (4040 + 40(3,) = 4 (Zr);

s (%
22 (4-2x) 537 12x =35 (2x-3)
129 — Qloox +5D = 12~- Fo5 +105
| o = 28~
2 =X



L)B l‘[ ( 3y - 2)»3 (é

2@w/ ™ {g%‘;’;" "“3 .

i
2, IR -
| 8DCJ><-,_{,, ~ 3¢, ( ey mﬁ‘xf:» R

2H0ox~|

2.
2@ = P“QL,
2@+9 =p

=3) = 1l 42n
(N
\Z )
LIERTCPESE

¥



